A £ 0l & AF & S

20283 =& 2 3 LEtSIH &l

Al A

SA: ZoHI =X 0t
M O sSNSH
Rl ZoHe! SXSA (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
ZOHRI =Xt 289,608,818 290,883,240 N1,274,422
= 221,223,413 223,675,036 12,451,623
< 63,406,405 62,229,204 1,177,201
£ 4,979,000 4,979,000 0
Zohe! SXsa 286,293,376 288,911,180 N2,617,804
= 221,223,413 223,675,036 N2,451,623
[ 60,090,963 60,257,144 A 166, 181
£ 4,979,000 4,979,000 0
ZoHel SXSH 66,461,586 66,375,210 86,376
= 54,391,065 54,288,532 102,533
< 12,070,521 12,086,678 A16,157
HoH==00lx) X2 8,099,834 8,017,934 81,900
= 6,230,642 6,167,642 63,000
[ 1,869,192 1,850,292 18,900
308 XXM SO0IA 8,099,834 8,017,934 81,900
= 6,230,642 6,167,642 63,000
< 1,869, 192 1,850,292 18,900
01 AXHH B EES 8,099,834 8,017,934 81,900
OFM=E(I=x) 8,099,834 8,017,934 81,900
= 6,230,642 6,167,642 63,000
< 1,869,192 1,850,292 18,900
=2 (X S) X= 4,338,238 4,247,238 91,000
= 3,337,106 3,267,106 70,000
< 1,001,132 980, 132 21,000
308 AHXIEMSOIH 4,338,238 4,247,238 91,000
= 3,337,106 3,267,106 70,000
[ 1,001,132 980, 132 21,000
01 HAHHBSEEXS 4,333,238 4,247,238 91,000
O (Xtae S) 4,338,238 4,247,238 91,000
= 3,337,106 3,267,106 70,000
< 1,001,132 980, 132 21,000
Zofelctas X2 618,003 649,003 A31,000
307 2Itold 351,500 352,500 21,000
RNEEPANE=ES 351,500 352,500 21,000
OHHATH=SNAIE XA 76,000 77,000 21,000
402 QI2EXH=20I A 38,000 68,000 £30,000
01 QI X2 AL E R (KEHITH) 38,000 63,000 30,000
SEAMATAUAY ] JIs2S 0 30,000 30,000
403 AXIEHMSA=Z0l1d 126,000 126,000 0
01 AXEHM A =2 £ 126,000 126,000 0
OFQOIAl SRIZEZMQIES JIsEL (R
33) 0 19,000 19,000
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=aak

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2

HOIAl HOHQIFEESHES JIsE2(RI1E

g) 19,000 0 19,000

HEZoHR NsX& 129,300 172,824 N\43,524

= 90,510 120,977 30,467

= 38,790 51,847 A13,057

307 212+01& 129,300 172,824 A43,524

= 90,510 120,977 A30,467

S 38,790 51,847 13,057

10 Al SXAZEHE2EHI2x 103,440 138,260 A34,820

O A Z0He! nEAID(22HI) 103,440 138,260 A34,820

= 72,408 9%,782 NP4, 374

S 31,032 41,478 10,446

11 AR S XA 2 X 25,860 34,564 A\8,704

O & Z0Hel WAL (AFHI) 25,860 34,564 N\8,704

= 18,102 24,195 26,093

= 7,798 10,369 A2,611

ZOHRIDEEXIR (AI2) 242,000 254,000 12,000

308 AHXIHMSO0IA 242,000 254,000 /12,000

01 AIXSHHBLELS 242,000 254,000 212,000

OAl - 2 ZOHIIEXJEH 28 X 212,000 224,000 212,000

ol XX 149,024,690 155,097,110 26,072,420

= 121,434,140 126,844,672 Ab,410,532

== 27,590,550 28,252,438 A6B61,888

ZOHQIMAFSEONAIE XIR(2) 176,093 175,293 800

= 70,437 70,117 320

= 105,656 105,176 480

307 212+01™ 176,093 175,293 800

= 70,437 70,117 320

= 105,656 105,176 480

10 MEISXAEHE2EHIEX 176,093 175,293 800

OO HASZ EHIHAIE 223 176,093 175,293 800

= 70,437 70,117 320

&< 105,656 105,176 480

SSHUY Es2X & FI A& 4,755,585 4,757,085 1,500

308 XXM SOIH 4,755,585 4,757,085 21,500

11 S 2SS & HASAIE 30,500 32,000 21,500
ESTTHC 22X XA (FIH) HXHE=2

pfnges 30,500 32,000 21,500

Zope! EsXE=20 X3 95,928,571 103,828,571 27,900,000

= 85,000,000 92,000,000 27,000,000

== 10,928,571 11,828,571 900,000

308 AXIHMSO0IA 95,928,571 103,828,571 27,900,000

= 85,000,000 92,000,000 A7,000,000
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S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
< 10,928,571 11,828,571 A900,000
01 AXSHHELEXS 95,928,571 103,828,571 27,900,000
OZoHe g=sXE=8r XA 95,928,571 103,828,571 27,900,000
= 85,000,000 92,000,000 27,000,000
= 10,928,571 11,828,571 A900,000
BEEEX OR=N 1,476,928 711,130 765,798
= 1,308,670 630,115 678,555
= 168,258 81,015 87,243
308 RXISHMSOIH 1,476,928 711,130 765,798
= 1,308,670 630,115 678,555
= 168,258 81,015 87,243
01 AXIEHELAExS 1,476,928 711,130 765,798
OESEX Iz (8E8H) 1,476,928 711,130 765,798
= 1,308,670 630,115 678,555
= 168,258 81,015 87,243
KNHEYSEHIXRAEH 2 K& 618,000 538,000 80,000
= 309,000 269,000 40,000
= 309,000 269,000 40,000
308 KXIHMSOIH 618,000 538,000 80,000
= 309,000 269,000 40,000
= 309,000 269,000 40,000
11 312 S0eHE &R A I 618,000 538,000 80,000
OXSLSHOCIXAMEH 2 XIJ 618,000 538,000 80,000
= 309,000 269,000 40,000
L= 309,000 269,000 40,000
ZOHOL JtE 2= 3,651,664 3,651,707 A3
= 2,556,165 2,556,165 0
= 1,095,499 1,095,542 A3
307 2I2+0l™ 3,651,664 3,651,707 A3
= 2,556,165 2,556,165 0
= 1,095,499 1,095,542 A3
1 AISI S XA E X 3,651,664 3,651,707 243
OZ0iot I LK 3,651,664 3,651,707 A43
= 2,556,165 2,556,165 0
= 1,095,499 1,005,542 A3
LT F2HESHEIA X 11,315,791 10,255,329 1,060,462
= 10,026,650 9,087,000 939,650
= 1,289,141 1,168,329 120,812
308 AXIHMSO0I& 11,315,791 10,255,329 1,060,462
= 10,026,650 9,087,000 939,650
T 1,289,141 1,168,329 120,812
01 AXIEHBLAEES 11,315,791 10,255,329 1,060,462
OgEZel =2tasMtlA X 11,315,791 10,255,329 1,060,462
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S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
= 10,026,650 9,087,000 939,650

= 1,289,141 1,168,329 120,812

LSO Yt SSAHEIA XA 3,152,034 3,229,971 ANTT7,937
= 2,792,943 2,862,000 A69,057

L= 359,091 367,971 A\8,880

308 KXIHMSOIH 3,152,034 3,229,971 ANT7,937
= 2,792,943 2,862,000 269,057

T 359,091 367,971 28,880

01 AXSHHBAELS 3,152,034 3,229,971 ANTT7,937
OggZoel gus ssMHlA X 3,152,034 3,229,971 NTT7,937

= 2,792,943 2,862,000 269,057

s 359,091 367,971 28,880

Ol AlIEES 59,175,173 56,042,615 3,132,558
= 43,693,220 40,946,484 2,746,736

S 15,481,953 15,096, 131 385,822

ZOHRIAFAIE 2 KA (AT, 29) 48,190,734 45,129,095 3,061,679
= 42,700,650 39,987,770 2,712,880

& 5,490,084 5,141,285 348,79

308 REXIHMSOIH 48,190,734 45,129,055 3,061,679
= 42,700,650 39,987,770 2,712,880

= 5,490,084 5,141,285 348,799

01 AXIEHBLEES 48,190,734 45,129,095 3,061,679
OHOULIAFAIE 22 K& 48,190,734 45,129,095 3,061,679

= 42,700,650 39,987,770 2,712,880

= 5,490,084 5,141,285 348,799

ZOHQIAFAIE 2 KA (AT, &ldl) 130,298 128,754 1,544
= 115,453 114,086 1,367

= 14,845 14,668 177

308 XX HMSOIA 130,298 128,754 1,544
= 115,453 114,086 1,367

& 14,845 14,668 177

01 XN BAELS 130,298 128,754 1,544
OZHRIH=FAIE AHIZA0I8E KIE 130,298 128,754 1,544

= 115,453 114,086 1,367

= 14,845 14,668 177

ZOHRIHFAIE JISEZ 1,006,5%4 954,693 51,901
= 556,820 526,290 30,530

= 449,774 428,403 21,371

403 MRS =01 606,594 554,693 51,901
= 356,820 326,290 30,530

L= 249,774 228,403 21,371

01 XIXISHI A= E & 606,54 554,693 51,901
OFOMLIHFAIL JISEL 606,54 554,693 51,901




2A:
PSR
ool

A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
2 356,820 36,290 30,530
= 249,774 228,403 21,371
ZOHRIIFAIS S X 1,061,581 1,050,688 10,893
308 XX IS0/ 1,061,581 1,050,688 10,893
01 IR B AR RS 1,061,581 1,050,688 10,893
OEZZALSN4+Y X2 166.218 160, 170 6,048

OFHAHFAILBAIR QA== (T2

24Y) 521,042 516,197 4,845
ZOHQIAZEAISE BIIHF| AL X 22,1 20,544 1,654
2 16.649 15,408 1,241
= 5,549 5,136 413
308 XHXI EHHIS 01 2,1% 20,544 1,654
2 16.649 15,408 1,241
= 5,549 5,136 413
01 X SHBLEES 2,18 20,544 1,654
OFWUHFAIE BIIHF)| Bl 2,198 20,544 1,654
2 16,649 15,408 1,241
= 5,549 5,13 413
ZojoI=x2 29 4,932,322 4,932,520 A1%8
403 XEXIEHHIS RH2 01 & 35,856 36,054 A1%8
01 XX A= 2= 3,856 3,054 A1
OAZEfI=RIZ IIsEY 4,356 4,554 A1%8
Zojol S| - FALS K& 857,010 852,455 4,555
308 XHXIEHHI SOI 857,010 852,455 4,55
01 RXISH LA RS 857,010 852,455 4,585
OHOjQ! F2ES 469,504 468,331 1,263
OFOH EIIBS K 2,028 338,73 3,202
HOHRIZEARSAIL JIS2Y 106,316 104,500 1,816
2 61,068 60,000 1,068
= 45,248 44,500 748
403 XX SIS XH=0I 106,316 104,500 1,816
2 61,068 60,000 1,068
= 45,248 44,500 748
01 XX =2 = 106,316 104,500 1,816
OFUWAFTALEAIE IISEY 103,816 102,000 1,816
2 61,068 60,000 1,068
= 42,748 42,000 748
ZOHOIAIE SAKE M2 N 1,362,138 1,356,924 5,214
307 212401 302,490 300,480 2,010
CREEVINEEEEETEES 302,490 300,480 2,010
OFHUAIE SAK HPHS(E) 197,970 195,960 2,010
308 XHXI SIS 01 1,050,648 1,086,444 3,204
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Off

SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o CImE==
01 AXIEHZAExS 1,089,648 1,056,444 3,204
OZONIAIE ZAXE MM E(Al2) 661,133 658,784 2,349
OXOHOIAIE BAIA FHSAHI(AlIZ) 321,255 320,400 855
O EAIE DIB Oted 24,000 30,000 26,000
308 AXIHMSO0I & 24,000 30,000 26,000
01 XN BAELS 24,000 30,000 26,000
OEAL Z0He Bz XIE 24,000 30,000 26,000
ZOHRIH=AIE 10T AIEE SEME 29 0 500 A500
= 0 350 A350
= 0 150 A150
308 REXISHMSOIH 0 500 A500
2 0 350 A350
= 0 150 A150
01 XN LAExS 0 500 A500
OZOHRIHFAIL 10T AIEE SSAE 22 0 500 A500
= 0 350 A350
= 0 150 2150
ZoHe!l ekl 11,631,927 11,396,245 235,682
= 1,704,988 1,595,348 109,640
= 4,947,939 4,821,897 126,042
= 4,979,000 4,979,000 0
ZHOHRIEHLIA &S 870,095 862,167 7,928
307 212t01& 249,893 241,965 7,928
10 Al SXAEHE2EHIEX 188,906 180,978 7,928
OSSHOMCIHOALXIAEH 29 188,906 180,978 7,928
ZOHRIE X001 K& 71,212 79,124 AT,912
= 66,244 73,604 27,360
= 4,968 5,520 YANG'$Y4
308 KXISHMSOIH 71,212 79,124 AT,912
= 66,244 73,604 AT7,360
= 4,968 5,520 VANG'$Yd
01 AXIEHELAEXS 71,212 79,124 ANT,912
OFOIEED1D| XA 71,212 79,124 ANT,912
= 66,244 73,604 27,360
& 4,968 5,520 ANG 'Y
ZojeI2 & XIFAAS 57,511 55,845 1,666
308 AXIHMISO0I& 57,511 55,845 1,666
01 AXIEHBLEES 57,511 55,845 1,666
O | XI& 57,511 55,845 1,666
&S A2 RI|2 X 234,000 0 234,000
= 117,000 0 117,000
= 117,000 0 117,000
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